Restar Numeros de 1 Digitos (C)

Nombre:

Fecha: Puntuacion:

30
=1

60
=2

24
—6

50
=2

52

Calculen cada diferencia.

40 O] 48 96
-3 -6 -9 =7
90 20 53 40
—4 -1 -5 —4
32 32 90 51
-7 =3 -1 =3
82 O] 31 20
-3 -2 —4 -7
70 21 51 46
—1 —3 — 5 — 38
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Restar Numeros de 1 Digitos (C) Respuestas

Nombre:

Fecha:

30
=1
79

60
=2
58

24
—6
18

50
=2
48

52
=3
49

Calculen cada diferencia.

40 O] 48
-3 -6 -9
37 385 39
90 20 53
-4 -1 =5
36 19 48
32 32 90
-7 =3 -1
25 29 39
82 O] 31
—3 -2 —4
79 39 27
70 21 51
-1 -3 =5
69 18 46

Puntuacion:

96
=7
89

40
—4
36

51
=3
48

20
=7
13

46
=3
38
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